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Number of times students visited tutoring
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One or Two to Four or Total
Probability of fewer times | three times | more times
AandB _
P(A | B) P(A ) B) Full time student
_ Part time 2 5 6 13
Probability of P(B) student
A given B Probability of B
Total 14 30 14 58
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AN
- > Must be positive as

P(Z<a) = 0.7257 it's to the right of 0.

Therefore:
Pi{Z<a)=0.7257

Means:

b (a) = 0.7257
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Table of Standard Normal Probabilities for Positive Z-scores

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.5000 0.5040  0.5080  0.5120 05160 05199 §0.5239§ 0.5279 05319  0.5359
0.1 05398  0.5438  0.5478  0.5517 05557 0559 J 056368 05675 05714 05753
0.2 05793  0.5832  0.5871 0.5910  0.5948  0.5987 § 0.6026 § 0.6064  0.6103  0.6141
0.3 06179 06217 0.6255 0.6293  0.6331 0.6368 J 0.6406 § 0.6443  0.6480  0.6517
0.4 0.6554  0.6591 0.6628  0.6664 06700 0.6736 § 0.6772) 0.6808  0.6844  0.6879
0.5 06915 0.6950 0.6985 0.7019 0.7054 0.7088 J 0.7123§ 0.7157 07190  0.7224
0.6 0.7257  0.7291 0.7324 07357 0.7380  0.7422 § 0.7454 Q) 0.7486  0.7517  0.7549
0.7 0.7580  0.7611 0.7642  0.7673 07704  0.7734 J 07764 | 0.7794  0.7823  0.7852
0.8 0.7881 0.7910  0.7939  0.7967 0.7995  0.8023 |§ 0.8051 0.8078  0.8106  0.8133
09 0.8159 0818  0.8212 0.8238 08264  0.8289 § 0.8315) 0.8340 08365  0.8389
1.0 0.8413  0.8438  0.8461 0.8485  0.8508  0.8531 0.8554 § 0.8577 0.8599  0.8621
1.1 0.8643  0.8665 0.8686  0.8708 0.8729 0.8749 § 0.8770§ 0.8790 0.8810  0.8830
1.2 0.8849  0.8869  0.8888  0.8907  0.8925  0.8944 J§ 0.89062§ 0.8980  0.8997  0.9015
1.3 09032 09049 09066 09082 09099 0.9115 J§ 0.9131 09147 09162  0.9177
1.4 09192  0.9207 09222 09236 09251 0.9265 |§ 092794 09292 09306  0.9319
1.5 09332 09345 09357 09370 09382 09394 §0.9406f 09418 09429  0.9441
1.6 09452 09463 09474 09484 09495 0.9505 Q0.9515f 09525 09535  0.9545
1.7 09554 09564 09573 09582  0.9591 0.9599 J 0.9608 § 09616 09625  0.9633
1.8 0.9641 0.9649  0.9656 0.% O.% 0.9678 § 0.9686 8 0.9693  0.9699  0.9706

g i L9719 6 0. 0. 0. /

2.1 0.9821 0.9826 09830 09834 09838  0.9842 09846 09850 09854  0.9857
22 0.9861 0.9864 09868  0.9871 09875  0.9878  0.9881 0.9884 09837  0.9890
23 09893  0.989%6  0.9898  0.9901 09904  0.9906  0.9909  0.9911 09913  0.9916
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Standard Normal Distribution
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Student T Curve

Standard Normal Curve
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t score
0.1 0.05 0.025 0.01 0.005
df

1 3.078 6.314 12.706 31.821 63.657
2 1.886 2.920 4.303 6.965 9.925
3 1.683 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
10 1.372 1.812 2.228 2.764 3.169
y| 1.363 1.796 2.201 2.718 3.106
12 1.356 1:782 2.160 2.650 3.055
13 1.350 1441 2.160 2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1.341 1.753 2.131 2.602 2.947
24 1.318 T.#11 2.064 2.492 2.797
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The % Distribution
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Chi-Square table 93-S =joi U
I

Degrees of Level of Significance -

Freedom 099 095 09 075 0.2 01 Co0o0s) 001 0001
1 0000157 0004 0016 0102 1642 2708 3881 6635 10827 93-S & 95 Jgdz jl oslaliwl ogmu
2 00201 0103 0211 0575 3219 4605 5991 9210 13815 E :
3 0115 0352 0584 1213 4642 6251 7805 11345  16.266
4 0207 0711 1084 1023 5989 7779 0488 13277  18.486
5 0554 1145 1610 2675 7289 9236 11000 15086  20.515
8 0872 1635 2204 3455  B558 10645 12582 16812 22457
7 1230 2167 2833 4255 9803 12017 14087 18475  24.321 i k
8 1647 2733 3490 5071 11030 13362 15507 20090  26.124 ﬁx " }
9 2088 3325 4168 5800 12242 14684 16980 21668 27877
10 2558 3040 4865 6737 13442 15987 18.3D7 23200 20588 IU
1 3053 4575 5578 7584 14631 17275 196f5 24725 31264
12 3571 5226 6304 8438 15812 18540 21086 26217 32909
1 4107 5892 7041 9209 16985 19812 _ 22382 27688 34527

E&/}—W 20141 36.124 ¥
15 5220 7261 8547 11037 19311 22307 24096 30578  37.698
16 5812 7062 9312 11912 20465 23542 26206 32000 30252 I
17 6408 8672 10085 12792 21615 24760 27587 33408 40791
18 7015 9390 10865 13675 22760 25980 28860 34805 42312
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F Distribution PDF

0.8 4

0.7 — n=4,m=4 bJLiD 8)L)

_ n=10, m=4
0.6 4 1 ¥2 v
— n=10, m=10 v+ T 5 (=2-1

20 n=4, m=10 l—‘( 2 )vl Ve x(z )
% 0 ' f(x) = v v (v1+v2)
2 r (—1) r —2) (v, + vyx)\ 2
a g 2 2

0.2 4

0 1 2 3 4

Random Variable
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Fan , dfz)
F Table fora= .05
dfi=1| 2 3 4 5 6 7 8 9 10
ﬂ=1 161.45]199.50]215.71] 224.58 | 230.16 | 233.99] 236.77 | 238.88 54 1241.88 A
2 18.51 1 19.00 | 19.16 | 19.25 | 19.30 | 19.33 | 19.35 | 19.37 |}19.38 §119.40
3 10.13] 955 | 928 | 912 ] 901 | 894 | 889 | 885 |8881 § 879
4 771 1 694 ] 659 | 639 | 626 | 6.16 | 6.09 | 6.04 |§6.00 B 596
5 6.61 | 579 | 541 | 519 | 505 | 495 | 488 | 482 |Rd.77 N 4.74
6 599 | 514 | 476 | 453 | 439 | 428 | 421 | 415 |§4.10 B 4.06
7 559 | 474 | 435 | 412 | 397 | 387 | 379 | 373 |§3.68 N 364
8 532 | 446 | 407 | 384 | 369 | 358 | 350 | 3.44 |§3.39 § 3.35
9 512 | 426 | 386 | 363 | 348 | 337 | 3.29 | 3.23 |§8.18 M 3.14
10 | 496 | 410 | 371 | 348 | 333 | 322 | 314 | 3.07 02 §298
11 484 | 398 | 359 | 336 | 320 | 309 ] 301 | 295 90 §285
12 | 475 | 389 | 349 | 326 | 311 | 300 | 291 | 285 |§280 B 275
13 | 467 | 381 | 341 ]| 318 | 303 | 292 | 283 | 277 |§271 B 267
460 | 3.74 1 334 | 311 | 296 | 285 | 276 | 270 |§2.65 & 2.60
”s_ o, ." X1 EX B | ol = 7 o ' = — o .54
8 — :, e ,' | X oy " EG " - : e ' N (L3 " — ‘49
17 1 4451359 ] 320 | 296 | 281 | 270 | 261 | 255 | 249 | 245
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1
f(x) — a<x<b f(x)=5 for n events

f(x)

fix)
1 L - 1 1 - L L ] L ] L ]

ba "

0 a b X

0 a b X
38lg3 lavj tlgizo Mg
{a) Continuous Umform Distnbution

(b) Discrete Uniform Distribution daychegroup @
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0.35
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T

T
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- 2l &jgi o
10 Exponential }\
i distribution = | _l:( _ —AX
—_— X)=)e
L) E B — _
S 1 1
S5k —_— | A
g Exponential —_ Lo
5 distribution = Gwlg & jg ©
5 4 ﬁ >Poisson distribution -
f _A*e™A
2 = — B —
x!
u | | | | | | | ( ):
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(Cumulative Distribution Function) =o=i gujoi g O

Probability Mass Function Probability Density Function
0.20 4 ] F(X) = P (X S x) 0.003 1
0.15 4
0.002
0.10
[ 0.001
0.05 I
0.00 + T T T T T T T T l._._? 0.000 T T T T T T T T T
-6 —“umulative Di8tributidn Function © 8 -8 —6  Carthulativk DistPibutio® Functfon  © 8
1.0 1.0 1
0.8 0.8 1
0.6 4
0.6 4
0.4 1
0.4 1
0.2 1
0.2 1
0.0 1 . :
0.0 7 T . . . . . . T -8 -6 —4 -2 0 2 4 6 8
-6 —4 -2 0 2 4 6 8 - '
z plx), r.v. X is discrete
XeA e .
Fx{r} = { yer s3illgd oyj tlgimo sulgl
[ daychegroup @
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(The Central Limit Theorem) (5jSyo 3> awas U
oS Zhxiwl 20jgs el jl Sy GO ojlsil du (glo dgas dS (J5jguo bl aiLdls (s=ujgi jo X (L93lal jueio

CENTRAL LIMIT THEOREM 392 229> Jlopd 8 229

Normal

Uniform Skewed Random

Population

A mma e
- AA A
AlAA A

A
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(Expected Value) 6L saol U
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sy glog i 200 30b g g 3olg> 035 63093 Slgiuiny 3 8L 7 6 o JB Egamo JS1 oS Uiy | (b gy
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(Expected Value) 6L saol U

J=
b gy LUp 1(593La’ (wlojT

UinlojT SoTp p X
8L /76 J& Egoxo 16/36 -200

16/56(-200)+20/5(100)=-100/
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(Expected Value) ;L) sl U
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Jw SO lp adlw 52 30 aSul Jlisl S dow doyxs (wlwl p .38S (G0 joc dow ) 395 ddlw 52 350 SO i lguw
dow (olgi (youdo 40 dow Pléo 33 035gub daw jl logl jlie 208 2l dow S .cuwl 0.995 Slay 035 03T
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(Expected Value) 6L saol U

wlojT doTp P
wbuooxjawdhuubbbowd\wb}o

xbbmoxjmdhuubbbommbp

X
0.995 208000
0.005 208000-40000000

208000 (0.995)+(-39792000)(0.005)=8000
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(Expected Value) 6L saol U

>
wlojT doTp P X dgw Jlaso @ X
ol adlw 63u (gl s U 0.7 10000
Cuwl Lguaeo 0340 (g 105> US 0.3 -30000

F(X)=10000(0.7)+(-30000)(0.3)=-2000
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Descriptive Statistics ;91095 jloT U
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Inferential Statistics (Jbluisiwl ;LT U
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Cumulative olgle o
Mo, of Cumulatve | FHelative Felative .
Siblings | Freguency Freguency  Freguency  Freguency ez SHlghe o
X f cf rf crf s ilghd o
0 3 3 0.11 0.11 i 78
1 7 10 0.25 0.36 2050 s lghd o
2 10 20 0.3k 0.71
3 3 23 0. 11 0.52
4 4 27 0.14 0.9k
5 0 27 0.00 0.96 2:plao Jgaz 3> 30 ylaso :Jlo
b 1 20 0.04 1.00
Total 20

538llgd oy tlgimo su)gs
daychegroup @
daychegroup @

a1 6g,S | dayche.com




Gilol Jal=S - iy

oS (Slodpeio Glp (au0gi ol

65 sl yasls U
SMagd p s’ slacel go> Jols Solo

l> 6313 Jhwg ahs) :a5bwo

J!}Sj U_)_}_x_uu_) L) SRR Z'.O.;

11233456 8 38 :Jlo
7 SSho

3 :ailo

3 30

Jillg3 1y “lgins s.lg3
daychegroup @

daychegroup
a1 6g,S | dayche.com




Frequency (%)

a0

25

0

Mode

Median

hMean

1 2 3 4 5 6 7 8 9
Length of Hospital Stay (days)
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(a) Negatively skewed (b) Normal (no skew)

(c) Positively skewed

Mean
Median
Mode Mode Mode
Median /\ /\ Median
)
c \
g \ ,.
o \ f
3 \ \ /
L Mean Hn f.' Mean
|II III
— Y ¥ ' X ¥ - X ' Y ¥ —X

The normal curve
represents a perfectly

Negative direction

Positive direction
symmetrical distribution
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Ll 031 ©gw g Jal LSJL'> S| (_,S_Jb ¢Jbo diwold

Find Min, Max, Median & Quartiles
Glasses of Water Drank Per Day:

2, 4, 3,9 8, 3,10, 6, 2,9, 3,9 8, 4 10

AV SN AN I

lower upper

2)2.3,(3)3, 4, 4,(5)8,8,9,9)9, 10, (0)
Mi;n ME;iﬂr“l | x Mllu;x
(2nd Quartile)

1st Quartile ird Quartile
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o 631> jogw g Jgl LSJL'> s (_,SJL:> ¢Jbo diwold

Median = 8.1

Goupl 1R =30 O O Q O (0100)
Qutliers =0 6.1 8.1 9.1

Group I | dedlian = 77 00Q00PO0O © 0127
Qutliers = 1 6.1 7.1 8.2
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

Value
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19 25
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Point Estimates

Cuwle 6313 jlI(g3ace jlado SO (39T Cuwd A L9

Db SO Jiohb 0gleol jlabe d (jSao 3> U aS

Populatlon Unbiased estimator Formula
Parameter
_ _ XX
Mean, u X X = =
. 52 2 Z('x i X )2
Variance, o? S5 =
n—1
. X successes
Proportion, nt D pP=

n trials J38llg3 Lovj lgisn 34)g3
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The formula to find the sample mean _ .
Slsobiwl gl (gl adngi 3yglp <9y
n
"0, = i=1%Xi
x n

Formula to estimate sample standard deviation

2
& :'l=1(xi =4 ux)
n—1

Formula to estimate standard error (SE) of mean

SE,, = >
K, _/n
ja8llgl o) tlgi=o 3Jg5
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mean

I standard deviation

¢ S marrgin of error
D7 /s
/ \ sample size

??valueoft 777

standard error

d
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A 95% confidence interval indicates that 1% out of 20 =amples

(25%) from the same population will produce confidence
intervals that contain the population parameter.
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